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<Ishdl (5 SATST S |TLROT SATS o6 1=l 2 I S 3 I61 oh ST hl 3791
9:31 & Al Tshdlg SATST 2hl ATNeh &L JTd &h1? The ratio of the difference

between 2 years and 3 years between compound interest and simple

interest is 9:31, then find the annual rate of compound interest.?
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K@ng oo 4. NONE




(o) WMatkendra || > POLICE miraasi,/ UP azaars |

Two pipes A and B can fill a water tank in 20 and 24
minutes respectively and_a third pipe C can empty
at the rate of 3 gallons per minute. f A, B and C are
opened together to fill the tank in 15 minutes, the
capacity (in gallons) of the tank is :

A 9 A IR B & =t &1 FEEn: 20 e qen 24

fife ¥ o 9ohd 21 3R Tk 99U 9 C IHT 3 e
gfa e 1 < ¥ @relt & 21 3 A, B 941 C T 91
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At what rate per cent per annum will ¥ 2304 amount
toI 2500 in 2 years at compound interest ?

forg aiftier =91 &t X W 2304 %. Thgfg A 9 2 99
T 2500 % B QA ?

1 1 1 1
(1) 4— —0 —% (4) 45%
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A,B and C can do a piece of work in
12 days, 15 days and 20 days
respectively, working alone. A begins to
do the work and they work alternately
one at a time for one day each. The
whole work completed?

A,B,C f&dt & &t 3tdet 12,15,20 fa=i o
T Hhd £ A T HEAT T &HTar & Al
Fl-arit § U fa7 sige U &9 «m &
21 ®mm fa=t o gar grm

} (A) A5 (B) 4
——C) 7 (D) 9
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A merchant hag 800 kg gf sugar. He sells a part of it at 10% and rest at 15%
profit. If overall he gains 12% on whole. The quantity sold at 15% is ?

U ATIRT & U1 800 fabar il €1 98 T U fRRAT 10% MR AN 15% TTH TR
d9dl g1 gic Do [P I G W 12% DT ATH BIdT 61 15% U= &l S drei]

I DT AT 1 52
YA
b) 36 kg

- g unt = $%160 ) 35k
//pm _ : d) s9kg
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o} ¥ smal mber among 249, 330 420 510 g
240 330 420 (5N Ha BICT GAT g

y[o 0o 1. 10
Cﬁ‘r@% 4 ok
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A man walks around a circular pond exactly once. If his step is 44 cm long and
he takes 700 steps to go around the pond, find the area of the pond.

Ush HAfdd Uh JAIBR dldld BT 31 U dR 9adR Il o | AlG 39D dhaH 44
JHl Tdl © 3R 98 dIdd & 9RI 3R YA & [¢U 700 HaH 33141 6, dl drdid &l

&A% d JATd DIfoTU

——o‘l‘fﬁr'/ ——4?4”@4‘3—}

. a) s574m’
b) 456 m?

- ¥ \C,/)/ 546 m?2

&k XLIO] d) 546 m?

b“dl
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The mean of median and range of the given data is:

32,41, 28,54, 35, 26, 23, 33, 38,40
%HTﬂzwcba HT U aﬁ?mﬁirqﬂﬂmwmaﬂﬁﬁl
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5dl - 30% @I {< UR 10000 3UY & HH dTdl Udb cdac WRial R TS (Gl &
d7c, cddle WS ol T 3R 394 391 AXFHd & 0¥ 1000 94 Jd fhU| ITD]
G SfDRT - 3Y cdaic Dl WRia & [ o AR DT UG fear forad sa1 @l
20% DT A1YH U BIdT g | dl 3fDRI gRI HIAH [hU U caae ol o 1§ 14
DIfoT?
Eva bought a tablet priced at (NR 10000 at a discourg of 30% Bhd after some
days, the tablet got damaged an ent INR 10001 repaired. Her
friend Akira offered some amount to buy that tablet which gir== 22" profit to
Eva. What is the price for tablet paid by Akira? a) INR 8000

(06se¥ :@ b) INR 9000

e f|o®
120 ' C) INR 8400

- NR 9600
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Three pipes A, B and C can fill a tank in 15

minutes, 20 minutes and 30 minutes respectively.

The pipe C is closed 6 minutes before the tank is
filled. In what time the tank will be full? 9 91gq
A, B 3R C T & &l shUTT: 15 e, 20 e 3R
30 e § W ehd 81 d Y ¥ 6 T 98s U139 C
1 &g R fear Srar 21 ohl fohae T8 O WX SITa}?

(a) 6 minutes (by'8 minutes (c) 12 minutes (d) 14

minutes (€) None of these
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An article is sold for Rs. x after successive discounts of 35% and 40%, if the
marked price is 804 then whatss-the difference between marked price and the

value of x % NF——K@Q::DU
U q%gaﬁhm% D e & a1 x 30 H ! Sl g1 afe avg @)
3{fdhd Hed 800 ©, Al 3ifdhd e 3R x & T & did Pl 3R R 57

Sp~/1 2 =39 2)

NP / l;j [%I aé)‘o a) 410
e bt it

FEES @ G

d) se0
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Mean of an observation is 2 times of mode. If median is 35, what is the average
of mode and median of the observation?

Udh U&[UT T 11 d@ﬂ; BT Gl g | Ffa AT 5 5, dl YaUl & dgad 3R
ATiErdT DT 3 d &1 57 v

W”’& @ @: mj_el_a_’( a‘h(mw_m?

m"-“\"l -:1/ 3 XG ‘—Héﬁé a) 3
hldﬂm =6 @/\?/zf& \yb)/ 4
MuAQf—:)f_h’w.ﬂiqm N %@% @ C) 5

d) s
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The perimeter of a square plot is the same as that of a rectangular plot with
sides 35 m and 15 m. The side of the square plot is:

Uh DR YES Bl URMY U SAHR HHS [SRID! YU smﬂm Hic?

g & A g1 ANHR YIS B Holl o (e i e
&@’Hg)
09)(90 0 Q. a) 2
— 25m
jﬁ’ :Q4( C) 50 m

d) 100m
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IQ Is the bisector of LM meeting NO at Q, MN =12 cm, MO = 20

cm, NO = 16 cm. Find the length of QO.

AMNO H MQ. 2M &T AU ¢ Sl NO &I Q IR fidrdr g, MN = 12 99t MO
= 20 &#fl, NO = 16 &Ml @1 1 QO 1 e 31 FIHA ((Ww feo (o))

W N | gl e
(% cw(w%

l@vﬁéé*"‘-*"”“g({wl /@:}( /’0\ Cb) 8
ol (1) 5 C) 2
4_3_1@_ gaw!_-_{%g PA% v | d) 105
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In a rhombus, the length of a diagonal is 6V3 and length of other diagonal is
equal to side of the rhombus. Then, find the area of rhombus.

Uh JHAJHS H, TP [dHUl Dl ddls 613 3R 3 [dHUl DI ddls THAGUS B Yol
& IR g | dl, JHIGUS 1 & d J1d DI |

a) 1813
b) 2043
C) 153
d) 161
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What is the greatest number which when divided by 728 and 900 leaves the
remainder 8 and 4 respectively?

dg IaY do! I F1 © oll 728 TUT 900 B! [AHTISIT B UR Y HHRT: 8 7T 4
4Tl 52

a) 2
b) 14
C) 16
d) s




